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(i) 2-5 (i) 4-5 (iii) 3-5 (iv) 5-5 (v) 1-5
6 6 6 6 6

2. Which of the following are true?

a) 1 82 5 1 82 1 5
—x(S— )= X ) (X )
10 9 14 10 9 10 14

b) 7 89 15 7 89 7 15
S D)= (e k()
6 10 8 6 10 6 8

o 1 89 18 1 89 1 18
— X(— + )=( X )+ ( X
10 10 19 10 10 10 19

d) 7 82 7 7 82 7 7
S (X=X (=)
6 9 13 6 9 6 13

(i) {b,a} (i) {a,c} (i) {b,c,a} (iv) {b,d,a} (v) {d,c}

4

(i) 14 a4 (i) 17 a4 (iii) 13 a4 (iv) 15 4 (v) 164
[ : i : iii : iv : % :
45 45 45 45 45

3

(i) 33 > (ii) 32 3 (iii) 29-3 (iv) 30 > (v) 31
35 35 35 35

35

5. 5X6- =
(0) 123 (i 127 (i) 125 (iv) 125 ) 125
i) - i) - iii iv) - v
4 4 2 4 6
: o . 3 721
6. Find the missing value in17 — =+ =1-
17 — 1615

(i) 12'1 (if) 12'1 (iii) 11'5 (iv) 11'7 (v) 11'7
i g i g (i g (v o W g

7. Which of the following is true?

.. 37 18 53 37 9 1 = 34 14 8 33 25 17 19 3 11
(i) —=——=7- (i) —=——=- (i) — +-—=12- (iv) — —- 18- (v) — X—==1-:
6 11 66 20 5 20 3 13 39 2 11 22 9 2 27



2
8. -
14

X1l =

13 11
5

(i) 2 (i) = (iii) H (iv) — (v)
oo (i) i) ) (v

9. Which of the following is true?

10.

11.

12.

13.

14.

15.

16.

17.

. 1 5 .. 3 8 74
(i) 29—-—-14—- =44 (ii) 36-+20-—- =15-
6 6 7 13 91

5 4 8
(v) 25 -5-=31
17 5 85
2 )
of140 is
7

(i) 25 (ii) 40 (iii) 30 (iv) 55 (v) 50

1
15+4—- =
37—
(i) 3 (ii) g (iii) g (iv) g (v) &
i i iii iv v
13 13 11 13
Identify theimproperfraction

(i) 147 (ii) (iii) 144 (iv) 4 (v)
i : ii iii iv) - Y,
9 7 6
) o .9 1
Find the missing value in — X =

18 — — 15

(i) 2 (ii) 4 (iii) 2 (iv) 0 (v)
i i) - i) - iv V) -

17 15 13 15

. . 8.
The numerator in the fraction -5 is
(i) 0 (ii)) 8 (iii)) 9 (iv) 5 (v) 6
. 350
Reduce the fraction
700

M () 1 i s v s W)
i 5 ii iii 4 iv 5 Y 5
265

-19=
13
(i) 20 (ii) 16 (iii) 18 (iv) 18 (v)
i ii iii iv Y,

13 13 11 13
4

+11 =
11 -

125 125 125 123

(i) 9 (i) 13 (iii) 11 (iv) 11

1 1
(iii) 38—=+32-
3 20

127
11

7

29
5.
60



18.

19.

20.

21.

22.

23.

24.

25.

9
Find the missing value in4 10 + =23

(i) 19

1
The additive inverse of .8

(i) (8

(i) 18-3
7

) (i)

(iii) 01;) (iv) 0 (v)

(iii) 18-5 (iv) 18-5
iii 9 Z

is

8
-1

7
Find the equivalent fraction of 13 with denominator13

42
13

(i)

(iii)

(iii)

(iii)

(iv) 28 (v) 49
Vi3 WY

281 283 281
(iv) - (v) -
11 13

, 1
(iv) 18 (v) (16)

152
The simplest form of the fraction >a7 is

M 13

(i)

(iii)

) = W
WV 15 11



Assignment Key

1) (iii) 2) (ii) 3) (iv) 4) (v) 5) (iv) 6) (v)
7) (i) 8) (ii) 9) (iv) 10) (ii) 11) (ii) 12) (v)
13) (v) 14) (ii) 15) (iv) 16) (iv) 17) (iii) 18) (iv)
19) (i) 20) (ii) 21) (iii) 22) (iii) 23) (i) 24) (v)
25) (iii)
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